X m B 8%

GTTIERER~EERMARER)

%= B (EFR) EE R i
EiE 1628 -
1 GEE A~ 2 o) 21 1~21
EE 4772 B
2 (TEFIETAL ~BEE) 1/2 21 22~42
EE 4778 -
8 (FEBIRTAL ~EEE) 2/2 1 43~49
. |PE EmmARELS WETEISEH 1 50
(TESKATIGHT (BATEHS) ~ IR TRAT)
Rl mEELE -
5 (RALHFE GRS, (GHFA) ) 8 51~58
o |WE EeEHER 4 59~62
(St /IMEET (B 182) ~ E:E477 82 8)
Rl ETEEE
7 ([EEATIE2a~EE162228) 4 63~66
(Bl - 2 BT ~ AL IR R AT Gk B 55) )
FRE B N
S (EBATTES S~ i) 7 78~84
0 |FE_ssrEmes 5 85~89
(FFEhi B S et ~ a2 T gas
FRE £ 2T R B
i (R EEA~EE162224 4 90~93
FRE TR 5
2 hs~EE 1 6 2828 L 94~100
I -
B (@622 a8 ~m it 5 T ES) 10 101~110
FiE BEEHE 5
S T TSP TN f"F) 2 1i~112
T AL 1SS -
15 (24t Bl L) 2 113~114
i TR
16 | (E i m LT Gl ) 1 115
i 5
17 (24t Bl L) 2 116~117
T EEAANRE
18 (FTdt R AHART) 1 118
(EiE 162822 {35)
i AR -
20 | G T~ hi) 3 120~122
i LA N
20 AR~ ) ° 128~127
[T EE i 128




No. 1

ERLRIL ‘

—fREE 1625 (1)

IR | mm | W5

O 0 0 RE g% B

X

1,161 | 1,437.8 | K& 8




No. 2

08E=V WOZ=M W06 =1 X

—fREE 1625 (2)

%=

Re 5% &

RE- 5

IR

0
2,375.0

X1 1,820




No. 3

—{REE 1625 (3)




5 " K
FALBHIET

—fREE 1625 (4)

IR | mm | BB

©) 60 120.0 | RE 5% 8%

1,135 810.0 RE £2

X




No.5

AL SHET

EE
wSHE

Z

z‘) WG [G=V WG 0=M wgll=1 X
=\
Gy =V wo'1=M wgy =1 X

REHHE

"R E

TS HIET

—fREE 1625 (5)

ze | mw | 6%
ol 0 T
x[1.313.0 | 890.4 | ke




R -4
L BHIET

LB HIET

—fREE 1625 (6)

EE | @m | BE
ol o 0 [
X 1,655 1,627.0 | BE 5%




—{REE 1625 (1)

%=

Re 5% &

RE- 5

E ¥§ Lod)

639
554.5

470
1,235




—fREE 1625 (8)

TE | @H | B=

[©) 0 0 Re 5% &

X

1,154 | 1,707.0 | K% -£%




(@]
S
=

R

—
-

P

O L=150m W=1.3m A=195m

O L=110m W=1.3m A=143m

O L=327m W=0.5m A=163.5m

—fREE 1625 (9)

# %
Re 5% &

RE- 5

(o)

[
460. 6

365. 5

938
420

1\

TunuLau £

T

—

O L=186m W=0.5m A=93.0m

S

mzamm

WS97=V WE 0= Weg =7




No.10

A\l

ERE

AL

&
i
[+
&

—{REE 1625 (10)

O] 1,065

ESE AU

%=

Re 5% &

RE- 5

E ¥§ Lod)

397.5




No.11

RATRHET

[T

=0 N,

S/ 8y

—REE 1625 (1)

EE | @mHE | BE

434

165.0 |RE-£5 3§

40

35.0 RE- 5




—fkEE 1625 (12)

TAEEREE
ol o 0 [EEw
x| 470.0 595.0 RE §E




ol
L el 2
|
NEHE
Ge) [
™ S
o
S HNBE
= ColEl |<
WE_,
x| |2
_EOﬁ
[O] B3

Yo ,@Hq

%




w| %
= SHE
: =02
= ==
u %,m ~le
lm|a|e
el
=W S| o
laf =™
[O] B3
&ooh//? 5
E@\/u& £
x 7 .
) e
: i
-_— H]
. [ o o M
28 . M
\ Q{Wm%x Eb.NFH ® 3
O L=380m W=0.1m A38n
\
m\m@uv i %Q\y i
E%%HW\S
o —
s «..Qw,ww@@
(@) W pe
—50m A0C v
~om QX . x
“maﬂvﬁﬁ . ® ™
1 =380m W=0.1m A=38m XHEEL #HES = —t , = m/ﬁ
w1 L u , =
" = ® D - _ : > 7
~ . H - - ﬂﬁ\vw.w»mmﬂ\,
) = e G
=250m
- Orusma,zun.oa», 2
] M .
L "
" ®
&




No.15

i

e g8

& %{nﬂ

1,082.4 | K% 5585

0

Ei#162% (15)

i

i E

Of 1,425




©
£ o
E f;
i | UK | s
. R EE
_ - |®=
O L=128m W=2.0m >\NmMH§ WOL 1=V WO'Z=M Weg=1 O L
NEEE
N ©|m|3|”
—] wa\ W@ i —
| 7 i | 3
= T T ,a<,; mm 4 mw -
: _ =
= = : - Z ;ﬁu -
\\\\\ o S , .
- O T=216m W0.Im A=21.6m PO =
K & > A
\ K . m
&

=
FALBWET
s,

mm K
, Ei
&=

20 L=45m W=0. 1m A=4, 5m2

o

[

25 coged)

—pmit1 6

W=0.1m A=24m2

S AT

g

(H/
Hm:w:AN
m HESS s

End

4 ﬂ L=20m W=0.1m

z

ATERLER

smsnie

neeanen

Pt

=
FtA e

HRE
T




[ =38m
W=2.0m

KEETAIS R 1.0m
A=76m2

BRR

L=15m

W=7.0m
ism2 O

(
\ﬁ\;oi

~
o3
E]

\N

VT

No.17

ER I =
—{REE 1625 (17)
EE | @ | BE
O| 603 471 |BE-g2E
x| 437 305.5 | kg2




No.18

—iEEE1625 (18)

EE(m) E*ﬁ(mz) ﬁ%

O| 870 1,026 |RE-55-ER

X 25 25 RE-£2




No.19

=37m_W=0.2m A=7 4ni

5m V0. 20 A=43. 0t

—fBEE 1625 (19)

EE | BH | WE

O| 620 143.8  |RE-55 &

x 0 0 ke 58




. A=30m
KraTh—knae | (O
%";%4\\\/ %,
e 0 G
K 0,77’37

&
S,

FhoRIL

No.20

—REE1628 (20)

EE | @n | =
Ol 1,151 268.7 |hE-£5-E
X 2717 278.3 BE £




Ll

X kR )LEE

Ry SRR R A-233. 4r
2y kP A= 64 g | A=298. 2

SV
Yyyvy :BRE

No.21

INEFERR

AR PR . PR S N {
_ YY| |
i HR=E
\(‘; YV VIRV VNV X 2y FOFW=1.nESD
YYYYEYYY
YYYYAYYY
et
77777775 — YYYYYYYYYYYY
1
— _ - =
ghurI —EiE162% BEE162% (1)
R R EE | mE, BE
" @) 0 0 RE- &5 24
X 25 335.7 RE-RE




No.22

¢ A BTN

N (e T)
v '

X45mBlF

=]

¢ EREEIR 0.50m

n il

188, i3
g L |
L1} { :
X :
s o~ {
et n = -yl 1 ) \
= B \..' A
P/ F\K :
I \ 2l
4 \ % o R A
it e TS
a1
S

—fBEE47 78 (1)

e EE | m®m | WE

[®) 10, 900 5450.0 | RE-£2-8f

X

0 0 ke £8




AEOE

X _L=170m W=1.3m A=221n{

No.23

—fEEE477E ()

ENEEREES
(@) 170 119.0 |kE 52 8
x| 1,479 |1,896.4 | RE-§%




No.24

—fREE477E (3)

EE | @] W&

®) 48 96.0 |[RE-5%-&%

X

1,224 |1,048.7 | RE-£2




No.25

EE S
P

x L=160m W=0.1m A=

X
L=28m W:Q.Sm
A=14m

T — =
LT,

S =

e mmE

EE
memm

—REE477E (4)

EE | @A BE

O] 200 209.0 |[RE- &% 8

X 854 571.4 RE-£8




—REE4775 (5)

EE | @] W&

0 0 RE-55-E4

X

1,011 595. 2 hE-£8




e

som

No.27

—fEEE4775 (6)

A4

EE | @A BE
O 238 23.8 |hE-£5 &R
X 465 130.5 ke £2




)
> el |5
W\ ¢ e 14

[eo] ( Py

~N =7
S i | o | oo
= n.__/aﬁ.w,b.
Mﬁ.lm

= E

=

=g
IELGKU




No.29

uy 0 | o
« e[ o |
|
| |w
53
X I I S
ar || 2|5
~ S|3
~[E|~]<2
i -
b
- o
2|l |
_H._LSZ
Ol x

GGy
W' [=M wgg=
X




o
(Se)

=]
=

—REE4775 (9)

E R

& &

hE 52 &

hE-£8

&

0
2,410.6

2,060

X




No.31

225m)

X
75m W=0.3m A=

L=

=l

i

=
de |, |

fap |
| Lo
\\ﬁm
Z| {

H | S | e
L ol =1
~|[E[2|3
<
M_._Hmm\m
= pocd
HMEE
_ﬁh_LZ -

O x

€r:



35)
W:o m
ExAS 5 Om
M»ﬁ 775”72
X
L 50m W=
A=g5prd-3m "X =110m W=10m A=110m

No.32

—REE4775 (1)

ENEEREE
O 205 350.5 |kE-£% Ef
X 390 342.0 e §2




No.33

—REE4775 (12)

EE | @] W&
659 740.5 |RE-£2 &
390 288.0 e &2




B | o
e e |
K
M. ﬁﬁwﬁ
S —
= SERE
nﬂ.ﬁmwﬂ.
==~
o =
) |—
=1
| o |2
_nu,_Ln/_ -

3 ﬁm
%QNH .
Qo=
EQNH/\S

=K .m [ .s..m,mn \
B[ \\3 s:ﬁm-& rVIf\J.I\,\I.! -“.#
ST

LIRS




R
T

—BEE4775 (14)

EE | mH| WE
O #4 | 4.0 |psa
X 975 772.1 BE §2




—REE477S (15)

EREEREES

#<) o| 615 303.5 |kE-g2 &

x 542 260.0 RE-£2




<O

—BEE4775 (16)

EAEER

%

275.0 104.0

RE- 5B

X

35 3.5

hE 52




—fREE477E (17)

EE | @] W&
331 65.5 |kE-£2- &
803 456. 8 ha &2




No.39

—{REE4775 (18)

AAEERE

0 0 RE- 55 B

X

873 489.3 RE 58




o
3.
S

=

s %

—fREE477E (19)

iE R

: ST A

& &

RE- 25 34
he §2

(o

[

0
559. 8

735




—REE4775 (20)

EAEEREE
O 41 668.1 |KE 55 Ef
x| 1,039 |1,111.6 | R §&




No.42

AT

GII=V WO =M WGLE=T X

w

1

V_—

Wy /=)
wQ [=M WL

X

il
i L\\&;\‘ "

—#REE4778 1)
O] 180 54.0 |h%-g2 3%

x| 257 | 2104 | e gs



No.43
I\
:‘.;E \ \ S = 5
j%§ BLXHE
5
kv

=Y
\l:ugg:'\

—REE4775 (22)

EE | @R BE

O 95 89.5 |hE E-Ek

X

2,209 |2,530.7| R%-§%




IIW,Q/{//Z/ ﬁ;‘ s ® B
S| @ﬁﬂﬁ //q!l’yw i" & .
7 l\\f (7

:';”%'63 %_ 0 U,
k0 NN

T

NS
W

g
P,
%
“,

@y
s Ek%‘lr 5

SES
"E\: |
%gé‘

e\
~ ;

—fREE4T7S (23)

EE | mH_| W=

O 0 0 RE-§5-Ef

(#5E<)

X

1,813 ] 1,732.0| RE-£2




SN

?"/
\9@ 'JT.<)
&
& 1 S
Q N
2 A
V% AS
+/ / A3 No.45
. 2 &
o S
2y (N
% ’
G : ~
4 : "
/\'3’&
W/
4:///
& Sz
,\b& e N
//\
\% 4
% A
N ' :
S
S
>

5 " KB
EERC 2
=
&
] & s ERE
* & .
H v g FALAAIRET
3 L7 ‘ ”'
- . B B
v a o 3\
< % < * w
of | o -'5((\
B/A0 Q{A'
. &
2
\//
+

—fREEATTS (24)

SELEN
fff LR | @R BB
o[ o 0 [
x| 1,305 |1,261.1| k& &2




No.46

=

—fREE477E (25

EE | @A | hE

Of 337 674.0 |[RE- &% 5

X 399 311.0 RE-£2




No.47

—BEE4775 (26)

EE | @R | 5

Of 155 80.5 |RE-£E-Ef

X

644 385. 4 RE-£2




2

No.48

—fREE4775 (27)

EE | @l | BE
O 335 222.5 |hE-55-ER
x| 1,320 | 1,174.0 | k& 5%




No.49

ERE
Pl
-
o
<
<8
<= -

BEE

L
g

A

i

- 5

| =,
87m W=0.3m, A=26.1 7

Iy

5 oR OE

PR

L=100m W=1.3m A=130M &
,w‘ﬁ

N TS

L= X
64m W=1.0, A64pt

VG

X 2
L =60m W=0.2m A=12m

X L=100m W=1.3m A=130m

—fREEATTE (28)
IR | E® | B=E
o] o0 0 |kE-g5-E
x| 451 382. 1 BE. g2




